1. Aufgabe: Bestimme den Wert des jeweiligen

Klapptest — Termwerte 1

Terms.
1
x 5 -3 0,7 5 -3 0,7 N
2x 10 -6 1,4 2
5
2
-2x+1 -9 -5 -0,4 13
1 13 9
==sa=1l -3,5 0,5 -— -—
2 20 10
1
x 5 -3 0,7 5 -3 0,7 -—
5
2
2x+5 15 -1 6,4 5—
5
3
-2x-7 -3 1 5,6 —GE
—Ex—z -4,5 -0,5 —1E —1i
6 20 10
2. Aufgabe: Bestimme den Wert des jgweiligen Terms.
1
X 5 -3 0,7 5 -3 0,7 -—
5
2
3 (x+3) 24 6 11,1 85
1
-4 (x+1) -24 8 -6,8 —BE
-4(x -2) -40 824 -5,6 1,6
—l(x+5) -2 _2 -1,14 —1i
5 5 25
4 16 16 6 24
-— (x-1) - - -
25 25 25 125 125
Ergebnis:
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